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R=y| R = IE kil
20 | EY—F IJLFYvh - TIoY JLRYwH - Ty 1Rl
BURLALEL, EVWS T EEHBALEL
22 | T&UY94TH BRUBRLAHY FEA, 1 ®il
f=o
46 | 61TH ('a’, True) :: Num ¢ => (Char, Bool, c) (a’, True, 10) :: Num ¢ => (Char, Bool, ¢) |1 [l
147H LEZAT, LD sunm TlE ECAHT, %&Dsum TIE 1 Rl
BIE®D we.hs ZH5—FERNELTCES BIE®D we.hs 37 R—=2) 2H5—FERVLEL
RBT1T 1 Rl
53 L. TLEED (RR—UBE) ,
12BMFBY 54| class Integral a where class (Num a) => Integral a where 1Rl
67 T&Y 447 THE. ULTO EHE. RR—=20 1 Rl
HEME
12 splitAt2 [1, 2, 3, 41 — ([1, 2], [3, 41)] splitAt 2 [1, 2, 3, 41 — (1, 21, (3, 4D |1, 2l
5178
13 | 22Bm7a4 54 foldl fa (xixs) = foldl (f ax) xs foldl f a (x:xs) = foldl f (f a x) xs 1 Rl
— ["a”."ab”. “abc”. “abed”. “abede”, 77 78" "ab” “abc”. “abed”, “abode”,
1178 1, 2 il
“abcdef”, “abcdefg”, “abcdefgh”] “abcdef”, “abcdefg”, “abcdefgh”]
75
1478 tails BfTHIDa A2 F 2TEXR “efgh”, “fgh”, “gh”, "h", "] 1 il
T&Y 247E concat & FA15l concat [[1, 2], [3, 4 51, [6, 7, 8, 9]] 1Rl
concatMap show [[1, 2], [3, 4, 5], [6, 7, 8,
76 | 1478 concatMap {3 FI5 1 Fll
911 — "[1,21[3,4,51[6,7,8,91"
11 | T&Y51THE intersperse EfTHIDI A ¥ k - [1,1,2,1,3,1,4] 1 Rl
82 R—th 1000 B O F #7927 1001 JFEH DFEHUE 7927 1, 2 7l
85 | 1478 f bl AS(al, b1) % f bl A%(a2, b2) % 1R
tail. hs
92 mapM_ headFile args mapM_ tailFile args 1 Rl
5178
unia. hs,
93 do content <- fileName do content <- readFile fileName 1 Rl
sort.hs 2 4TH
(1] (2]
107 /N /N 1, 2 i
[21 [3] (11 f[3] ([11 & [2] A¥33)
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Node 2 (Node 1 Leaf Leaf) (Leaf 2 Leaf
217H Node 2 (Node 1 Leaf Leaf) (Node 2 Leaf Leaf) |1, 2 fll
Leaf)
108
data Tree a = Leaf | Node a (Tree a) (Tree data BinTree a = Leaf | Node a (BinTree a)
7478 1 Fil
a) deriving Show (BinTree a) deriving Show
listToTree :: Ord k => [(k, v)] -> BinTree (k, v)
listToTree = foldl (¥t (k, v) > insertTree
(k, v) t) emptyTree
10 478 |istToTree = foldl insertTree emptyTree — 1) ROELSIZELCZELTEET, 1, 2 7l
112
listToTree = foldl (flip insertTree)
emptyTree)
— 2) tree.hs (FRHEDY—Xa—FESHE,
=174 TERHEER M2 R=SRABEFET, 113 R—UEET, 1 il
129 | 817H { } 1 il
133 | T&Y547H youngerThan s a = do guard (age s < a) where youngerThan s a = do guard (age s <a) |1 [l
5-6 1T Haskel| % Base64 T>a— FD#EEIL, Haskel| % Base64 T>a— R L1=#EEIL, 1 Rl
139
T&Y 417H [table !1 (shiftR n 4 . |. shifrR ¢ 4)1) [table 1! (shiftL n 4 . |. shiftR ¢ 4)1) 1 il
141 | 10,1878 Data. Char Char 1 /il
143 | 3478 import Data. Char import Char 1 Rl
do M &. put [THiIZ T FZE LY, procChar (&
143 | baseb4. hs procChar @ return DA F > MIE MOR—DDESIZREBEHELET, 1, 2 il
- baseb4. hs (FIRED Y —Xa— FESE,
T&UY isValidPos .. length column
157 WATILE 1 il
2-317H isValidPos ..
162 | T&V 447H RI& pickBoard L T 1=l RitpickBall LTH =4l 1 Rl
calcScore .. (length marks - 2)
1478 BITHRE 1 Rl
samegame board score =
166
newScore <- return $ calc + calcScore
10,18 /7H newScore <- return $ score + calcScore marks | 1 [l
marks
mkRandomBoard .. 10 Board
168 | 1478 WATELE 1 il
mkRandomBoard x y cols =
175 | 31318 SERENEHTNISET S SEREEESHTLNIS5ETSE 1 Rl
&Y 12178 XML-Toolkit XML-Too I box 1 Rl
199 | FT&Y 13178 Net. CGI Network. CGI 1Rl
T&Y 1016478 | HaXmL HaXm! 1R
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